Contract 25-15 Siewert Trail Construction (#9	721055)							
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of								
Solicitor. Oslikosli Wi, City of								
Bid Opening: 06/30/2025 11:00 AM CDT				ł – – ł				
Bid Opening: 06/30/2023 11:00 AM CD1								
					V. L. O. L		C 1D 8 C	0.10.1
					Vinton Construe		Carl Bowers & Sor	is Const. Co., Inc.
					1322 33r			
					Two Rivers	,		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1: Alternate 1/Base Bid						\$1,163,777.75		\$1,351,039.34
		Mobilization; complete as						
	1050-1	specified	Lump Sum	1.00	\$180,300.00	\$180,300.00	\$285,000.00	\$285,000.00
		Removing pavement;						
	1100-1	complete as specified	Square Yards	8,700.00	\$4.25	\$36,975.00	\$5.00	\$43,500.00
		Removing curb and						
		gutter; complete as						
	1110-1	specified	Linear Feet	1,480.00	\$6.00	\$8,880.00	\$3.00	\$4,440.00
		Removing concrete and						
		asphalt sidewalk and						
		driveway; complete as						
	1120-1	specified	Square Feet	6,650.00	\$0.97	\$6,450.50	\$0.70	\$4,655.00
		Unclassified excavation;						
	1200-1	complete as specified	Cubic Yards	745.00	\$37.05	\$27,602.25	\$18.00	\$13,410.00
		Excavation special						
		(paving); complete as						
	1220-1	specified	Tons	110.00	\$0.01	\$1.10	\$0.01	\$1.10
		8" concrete speed table;						
		with 6" CABC and						
		grading; complete as						
	1333-1	specified	Each	2.00	\$10,000.00	\$20,000.00	\$8,500.00	\$17,000.00
		Pavement ties; complete						
	1350-1	as specified	Each	57.00	\$8.00	\$456.00	\$10.00	\$570.00
		Adjust manholes and						
		inlets; complete as						
	1360-1	specified	Each	19.00	\$600.00	\$11,400.00	\$400.00	\$7,600.00
		Turf restoration;						
	1370-1	complete as specified	Square Yards	4,600.00	\$10.50	\$48,300.00	\$12.00	\$55,200.00
		12" radius curb with 6"						
		CABC and grading;						
	1410-1	complete as specified	Linear Feet	1,040.00	\$17.90	\$18,616.00	\$15.00	\$15,600.00
		30" curb and gutter; 7";						
		with 5" CABC and						
		grading; complete as						
	1440-1	specified	Linear Feet	1,460.00	\$38.45	\$56,137.00	\$32.00	\$46,720.00
		Mountable curb and						
		gutter; 7"; with 5" CABC						
		and grading; complete as						
	1451-1	specified	Linear Feet	10.00	\$55.00	\$550.00	\$75.00	\$750.00
	1	Sidewalk curb; complete						
	1460-1	as specified	Linear Feet	31.00	\$45.00	\$1,395.00	\$75.00	\$2,325.00
		4" concrete sidewalk with		1				
		3" CABC and grading;						
	1500-1	complete as specified	Square Feet	5,600.00	\$8.10	\$45,360.00	\$7.50	\$42,000.00

Contract 25-15 Siewert Trail Construction (#	9721055)			Г				
Owner: Oshkosh WI, City of		1		<u>├</u>				
Solicitor: Oshkosh WI, City of								
Solicitor. Concost VII, City of								
Bid Opening: 06/30/2025 11:00 AM CDT								
Bid Opening. 00/30/2023 11:00 AW CD1								
					Vinton Constru	ation Commonly	Carl Bowers & Sor	Const Co. Inc.
							Carl bowers & Sor	is Const. Co., Inc.
					1322 33r			
	K C 1			0	Two Rivers		TT IN DI	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		6" concrete sidewalk/						
		driveway/ramp with 3"						
	1510.1	CABC and grading;	с Б	2 1 5 0 0 0	#0.40	¢10,400,00	* 0.00	#1 = 0 00 0
	1510-1	complete as specified	Square Feet	2,150.00	\$8.60	\$18,490.00	\$8.00	\$17,200.00
		Curb ramp detectable						
		warning field						
	1540.1	(natural/non-painted);	Course East	140.00	¢25.00	¢4,000,00	¢ 10.00	¢= (00.00
	1540-1	complete as specified Drilled No. 4 sidewalk tie	Square Feet	140.00	\$35.00	\$4,900.00	\$40.00	\$5,600.00
		bars - deformed; epoxy-						
	15(0.1	coated; complete as	F 1	24.00	¢0.00	#272 00	#10.00	¢0.40.00
	1560-1	specified Cold weather covering	Each	34.00	\$8.00	\$272.00	\$10.00	\$340.00
		(sidewalk) - single						
	1500.1	visquine; complete as	с Б	1.10(.00	#0.01	¢14.07	61 00	¢1.107.07
	1580-1	specified	Square Feet	1,136.00	\$0.01	\$11.36	\$1.00	\$1,136.00
		Cold weather covering						
		(sidewalk) - double						
	1500.1	visquine; complete as		1.126.00	#0.01	¢11.07	¢1.00	¢1 10 (0)
	1582-1	specified Up-charge for late season	Square Feet	1,136.00	\$0.01	\$11.36	\$1.00	\$1,136.00
		cold weather concrete						
	1500.1	sidewalk; complete as		16.00	f05 00	¢100.00	# 2 0.00	# 22 0.00
	1590-1	specified	Cubic Yards	16.00	\$25.00	\$400.00	\$20.00	\$320.00
		Locate existing property						
	1/50.1	monuments; complete as	F 1	2.00	#=00.00	¢1 500.00	#F2F 00	¢1 575 0
	1650-1	specified	Each	3.00	\$500.00	\$1,500.00	\$525.00	\$1,575.00
		Replace existing property						
	1(52.1	monuments; complete as	E - J	2.00	\$100.00	\$300.00	\$105.00	¢21E 00
	1652-1	specified Sawing existing	Each	3.00	\$100.00	\$300.00	\$105.00	\$315.00
		pavement; complete as						
	1700-1	specified	Linear Feet	430.00	\$3.50	\$1,505.00	\$3.00	¢1 200 00
	1700-1	Base aggregate dense; 1-	Linear Feet	430.00	\$3.50	\$1,505.00	\$3.00	\$1,290.00
		1/4"; complete as						
	1001 1		Τ	420.00	¢20.(2	¢9.((0.40	¢15.00	¢(200 0
	1801-1	specified Base aggregate dense; 3";	Tons	420.00	\$20.62	\$8,660.40	\$15.00	\$6,300.00
	1802-1	complete as specified	Tons	620.00	\$24.62	\$15,264.40	\$15.00	\$9,300.00
	1002-1	Tack coat; complete as	10115	020.00	φ2 4 .02	\$15,204.40	\$13.00	\$\$,500.00
	1900-1	specified	Gallons	610.00	\$3.13	\$1,909.30	\$3.10	\$1,891.00
	1900-1	HMA Pavement LT;	GailOlis	010.00	р 3.13	\$1,707.30	φ 5 .10	\$1,091.0
	1901-1	complete as specified	Tons	2,200.00	\$89.79	\$197,538.00	\$88.90	¢105 500 0
	1901-1	HMA cold weather	TONS	2,200.00	\$89.79	\$197,538.00	⊅88.90	\$195,580.0
	1002.1	paving up-charge;	Tono	224.00	¢7.00	¢1 0/4 00	¢E OE	¢1.007.0
	1903-1	complete as specified	Tons	324.00	\$6.00	\$1,944.00	\$5.95	\$1,927.80

Contract 25-15 Siewert Trail Construction (#	9721055)			1				
Owner: Oshkosh WI, City of	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,							
Solicitor: Oshkosh WI, City of								
Solicitor. Oslikosli Wi, City of	-			{ } }				
Bid Opening: 06/30/2025 11:00 AM CDT				<u> </u>				
blu Opennig. 00/30/2023 11:00 AM CD1	+			+ +				
					Winter Constru	tion Common	Carl Barrows & Carro	Const Co. Inc.
	-				Vinton Construc		Carl Bowers & Sons	Const. Co., Inc.
	-				1322 33rd			
					Two Rivers,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Prepare foundation for						
		asphaltic paving;						
	1960-1	complete as specified	Lump Sum	1.00	\$17,624.00	\$17,624.00	\$17,450.00	\$17,450.00
		Pavement markings;						
		epoxy; 4" (white);						
	1974-1	complete as specified	Linear Feet	1,050.00	\$2.95	\$3,097.50	\$2.95	\$3,097.50
		Pavement markings;						
		epoxy; 4" (yellow);						
	1975-1	complete as specified	Linear Feet	3,400.00	\$2.95	\$10,030.00	\$2.95	\$10,030.00
		Pavement markings;						
		epoxy; 8" (white);						
	1976-1	complete as specified	Linear Feet	52.00	\$5.95	\$309.40	\$5.95	\$309.40
		Pavement markings; stop-						
		line epoxy; 18" (white);						
	1978-1	complete as specified	Linear Feet	124.00	\$13.25	\$1,643.00	\$13.25	\$1,643.00
		Pavement markings;						
		arrow epoxy; Type 1						
		(white); complete as						
	1979-1	specified	Each	7.00	\$115.00	\$805.00	\$115.00	\$805.00
		Pavement markings;						
		arrow epoxy; Type 2						
		(white); complete as						
	1980-1	specified	Each	2.00	\$115.00	\$230.00	\$115.00	\$230.00
		Pavement markings;						
		symbol; epoxy (white);						
	1984-1	complete as specified	Each	3.00	\$85.00	\$255.00	\$85.00	\$255.00
		Temporary pavement						
		markings; paint; 4"						
		(white); complete as						
	1985-1	specified	Linear Feet	650.00	\$1.25	\$812.50	\$4.60	\$2,990.00
		Furnish and install 6"						
		storm sewer; complete as						
	2000-1	specified	Linear Feet	15.00	\$43.00	\$645.00	\$85.00	\$1,275.00
		Furnish and install 8"						
		storm sewer; complete as						
	2001-1	specified	Linear Feet	200.00	\$47.00	\$9,400.00	\$87.00	\$17,400.00
		Furnish and install 12"						
		RCP Class III storm						
		sewer; complete as						
	2004-1	specified	Linear Feet	680.00	\$73.00	\$49,640.00	\$94.00	\$63,920.00
		Furnish and install 15"						
		RCP Class III storm						
		sewer; complete as						
	2007-1	specified	Linear Feet	160.00	\$82.00	\$13,120.00	\$99.00	\$15,840.00

Contract 25-15 Siewert Trail Construction (#	9721055)							
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of								
Solicitor. Concost VII, City of								
Bid Opening: 06/30/2025 11:00 AM CDT								
Bia Opening. 00/00/2020 11:00 ANI CD 1								
					Vinton Construc	ction Company	Carl Bowers & Son	e Const Co. Inc
					1322 33rd		Call Dowers & Soli	s const. co., me.
					Two Rivers			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section The	tielli Code	Furnish and install 18"	COIN	Quantity	UnitTite	Extension	Onterfice	Extension
		RCP Class III storm						
		sewer; complete as						
	2010-1	specified	Linear Feet	310.00	\$88.00	\$27,280.00	\$102.00	\$31,620.00
	2010-1	Furnish and install 24"	Linear reet	510.00	\$00.UU	\$27,280.00	\$102.00	\$51,620.00
		RCP Class III storm						
	2017 1	sewer; complete as	Lin or Foot	260.00	\$118.00	\$30,680.00	\$123.00	\$31,980.00
	2016-1	specified Furnish and install 34" x	Linear Feet	260.00	\$118.00	\$30,680.00	\$123.00	\$31,980.00
		53" HERCP Class III						
	2052.4	storm sewer; complete as		10.00	\$251 00	#2 = 10.00	#2 00.00	**
	2053-1	specified	Linear Feet	10.00	\$351.00	\$3,510.00	\$300.00	\$3,000.00
		Furnish and install 12"						
		RCP Class III apron						
		endwall with joint ties;						
	2140-1	complete as specified	Each	2.00	\$1,200.00	\$2,400.00	\$25,000.00	\$50,000.00
		Furnish and install 24"						
		RCP Class III apron						
		endwall with joint ties;						
	2144-1	complete as specified	Each	1.00	\$1,650.00	\$1,650.00	\$30,000.00	\$30,000.00
		Furnish and install						
		standard storm sewer						
		manhole (4' diameter);						
	2201-1	complete as specified	Vertical Feet	13.00	\$1,000.00	\$13,000.00	\$775.00	\$10,075.00
		Furnish and install						
		standard storm sewer						
		manhole (7' diameter);						
	2204-1	complete as specified	Vertical Feet	4.75	\$2,400.00	\$11,400.00	\$1,900.00	\$9,025.00
		Furnish and install						
		standard storm sewer						
		inlet manhole (4'						
		diameter); complete as						
	2213-1	specified	Vertical Feet	49.50	\$965.00	\$47,767.50	\$675.00	\$33,412.50
		Furnish and install						
		standard storm sewer						
		inlet manhole (5'						
		diameter); complete as						
	2214-1	specified	Vertical Feet	4.30	\$1,582.00	\$6,802.60	\$1,250.00	\$5,375.00
		Furnish and install						
		standard storm sewer						
		inlet manhole (6'						
		diameter); complete as						
	2215-1	specified	Vertical Feet	5.00	\$1,830.00	\$9,150.00	\$1,450.00	\$7,250.00

Contract 25-15 Siewert Trail Construction (#	9721055)							
Owner: Oshkosh WI, City of	//21033/							
Solicitor: Oshkosh WI, City of								
Bid Opening: 06/30/2025 11:00 AM CDT								
Bid Opening: 06/30/2025 11:00 ANI CD1								
					VI I O I		C 10 8 C	0 10 1
	-				Vinton Construc		Carl Bowers & Sons	s Const. Co., Inc.
					1322 33rd			
					Two Rivers,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install Type						
		1 inlet (with 18" sump);						
	2235-1	complete as specified	Each	3.00	\$4,450.00	\$13,350.00	\$3,500.00	\$10,500.00
		Perforated drain tile;						
	2416-1	complete as specified	Linear Feet	530.00	\$32.00	\$16,960.00	\$60.00	\$31,800.00
		Cleanouts; complete as						
	2418-1	specified	Each	5.00	\$790.00	\$3,950.00	\$1,000.00	\$5,000.00
		Furnish; install; maintain;						
		and remove Type D						
		modified inlet protection;						
	2508-1	complete as specified	Each	35.00	\$140.00	\$4,900.00	\$90.00	\$3,150.00
		Sediment removal - Type						
		D modified inlet						
		protection; complete as						
	2510-1	specified	Each	35.00	\$20.00	\$700.00	\$50.00	\$1,750.00
		Furnish; install; maintain;						
		and remove stone						
		tracking pad; complete as						
	2512-1	specified	Each	2.00	\$0.01	\$0.02	\$0.01	\$0.02
		Furnish; install; maintain;						
		and remove stone bag;						
	2516-1	complete as specified	Each	50.00	\$25.00	\$1,250.00	\$10.00	\$500.00
		Furnish; install; maintain;			+	+-/	4-0000	400000
		and remove 12" diameter						
		sediment logs; complete						
	2518-1	as specified	Linear Feet	250.00	\$10.00	\$2,500.00	\$10.00	\$2,500.00
	2010 1	Furnish; install; maintain;	Linear reet	200.00	\$10,000	\$2,000.000	\$10,000	\$2,000.00
		and remove dewatering						
		tank system; complete as						
	2524-1	specified	Each	2.00	\$1,000.00	\$2,000.00	\$0.01	\$0.02
	2324-1	Furnish; install; maintain;	Laci	2.00	\$1,000.00	\$2,000.00	\$0.01	\$0.02
		and remove turbidity						
		barrier; complete as						
	2526-1	-	Each	6.00	\$0.01	\$0.06	\$3,000.00	\$18,000.00
	2526-1	specified Furnish and install Class	Eacn	6.00	\$0.01	\$0.08	\$3,000.00	\$18,000.00
		I; Urban; Type A erosion						
	2(22.1	control mat; complete as	6 V 1	150.00	#F 00	# #F 0.00	#D 07	#005 F0
	2632-1	specified	Square Yards	150.00	\$5.00	\$750.00	\$2.25	\$337.50
		Furnish and install heavy						
		rip-rap with filter fabric;						
	2650-1	complete as specified	Square Yards	50.00	\$100.00	\$5,000.00	\$100.00	\$5,000.00
		Abandon 8" - 12" storm						
		sewer; complete as						
	2800-1	specified	Linear Feet	735.00	\$12.00	\$8,820.00	\$15.00	\$11,025.00

Contract 25-15 Siewert Trail Construction (#	9721055)			T T				
Owner: Oshkosh WI, City of	,,,,							
Solicitor: Oshkosh WI, City of								
Solicitor. Oslikosli Wi, City of								
Bid Opening: 06/30/2025 11:00 AM CDT	-							
Bid Opening: 06/30/2025 11:00 AM CD1								
							C 10 4 6	<u> </u>
					Vinton Construc		Carl Bowers & Son	s Const. Co., Inc.
					1322 33rc			
					Two Rivers,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Abandon 15" and larger						
		storm sewer; complete as						
	2802-1	specified	Linear Feet	140.00	\$13.00	\$1,820.00	\$20.00	\$2,800.0
		Remove 30" and smaller						
		storm sewer; complete as						
	2804-1	specified	Linear Feet	25.00	\$20.00	\$500.00	\$25.00	\$625.0
		Remove 33" - 60" storm						
		sewer; complete as						
	2806-1	specified	Linear Feet	20.00	\$28.00	\$560.00	\$100.00	\$2,000.00
		Abandon storm sewer						. ,
		manholes and inlets;						
	2810-1	complete as specified	Each	8.00	\$450.00	\$3,600.00	\$400.00	\$3,200.0
	2010 1	Remove storm sewer	Lucii	0.00	\$100.00	\$0,000.00	\$100,000	<i>\$0)</i> 200100
		manholes and inlets;						
	2812-1	complete as specified	Each	1.00	\$450.00	\$450.00	\$500.00	\$500.0
	2012-1	Connect to existing storm	Laci	1.00	\$ 1 50.00	\$=50.00	\$500.00	\$500.00
		sewer main; complete as						
	2950 1		E - d	1.00	¢750.00	¢2,000,00	¢1 200 00	¢4,000.00
	2850-1	specified Storm sewer utility line	Each	4.00	\$750.00	\$3,000.00	\$1,200.00	\$4,800.00
		opening (ULO); complete						
	2914-1	as specified	Each	1.00	\$750.00	\$750.00	\$600.00	\$600.00
		Excavation special						
		(storm); complete as						
	2950-1	specified	Tons	50.00	\$35.00	\$1,750.00	\$50.00	\$2,500.0
		Furnish and install pull						
		box (steel); 18" x 36";						
	5012-1	complete as specified	Each	17.00	\$1,000.00	\$17,000.00	\$1,000.00	\$17,000.0
		Adjust pull box; complete						
	5025-1	as specified	Each	17.00	\$5.50	\$93.50	\$5.50	\$93.5
		Remove pull box;						
	5026-1	complete as specified	Each	4.00	\$170.00	\$680.00	\$170.00	\$680.00
		Remove concrete base;						
	5027-1	complete as specified	Each	1.00	\$500.00	\$500.00	\$500.00	\$500.00
		Furnish and install 3"		1				
		Schedule 40 PVC;						
	5130-1	complete as specified	Linear Feet	3,300.00	\$10.00	\$33,000.00	\$10.00	\$33,000.0
		Connect to existing pull		0,000000	+	400,00000	+	400/00000
		box; complete as						
	5180-1	specified	Each	2.00	\$250.00	\$500.00	\$250.00	\$500.00
	01001	Furnish and install 4	Laci	2.00	φ200.00	4000.00	φ200.00	φ500.00
		gauge red-coated wire;						
	5220.1	complete as specified	Linear Feet	4,500.00	\$2.50	¢11 250.00	\$2.50	\$11,250.00
	5230-1	Furnish and install 4	Linear reet	4,500.00	\$2.50	\$11,250.00	\$2.50	\$11,250.00
		gauge black-coated wire;	. . –					
	5231-1	complete as specified	Linear Feet	4,550.00	\$2.50	\$11,375.00	\$2.50	\$11,375.00

Contract 25-15 Siewert Trail Construction (#	9721055)							
Owner: Oshkosh WI, City of	5721055)							
Solicitor: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of								
	-							
Bid Opening: 06/30/2025 11:00 AM CDT	-							
					Vinton Constru		Carl Bowers & Sor	ns Const. Co., Inc.
					1322 33r			
					Two Rivers	, WI 54241		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 10						
		gauge green-coated wire;						
	5262-1	complete as specified	Linear Feet	3,750.00	\$1.00	\$3,750.00	\$1.00	\$3,750.00
		Furnish and install 12						
		gauge red-coated wire;						
	5270-1	complete as specified	Linear Feet	500.00	\$0.80	\$400.00	\$0.80	\$400.00
		Furnish and install 12						
		gauge black-coated wire;						
	5271-1	complete as specified	Linear Feet	500.00	\$0.80	\$400.00	\$0.80	\$400.00
	02/11	Furnish and install 12	Enicurrect	000.00	\$0.00	\$100.00	\$0100	\$100.00
		gauge green-coated wire;						
	5272-1	complete as specified	Linear Feet	500.00	\$0.80	\$400.00	\$0.80	\$400.00
	5272-1	Furnish and install fuse	Linear reet	500.00	\$0.00	\$400.00	\$0.80	\$ 1 00.00
		holder; complete as						
	5380-1	specified	Each	48.00	\$50.00	\$2,400.00	\$50.00	\$2,400.00
	5560-1	Furnish and install 2A	Each	40.00	\$30.00	\$2,400.00	\$30.00	\$2,400.00
	5006.4	fuse; complete as		10.00	*- - - -	*2 <1.00	65 50	****
	5386-1	specified	Each	48.00	\$5.50	\$264.00	\$5.50	\$264.00
		Install CITY-supplied						
		pole and pole top						
		luminaire; complete as						
	5410-1	specified	Each	23.00	\$350.00	\$8,050.00	\$350.00	\$8,050.00
		Furnish and install Type						
		5 base; complete as						
	5504-1	specified	Each	23.00	\$1,075.00	\$24,725.00	\$1,075.00	\$24,725.00
Section 2: Alternate 2 (To Be Awarded)						\$155,327.97		\$162,770.42
		Removing pavement;						
	1100-2	complete as specified	Square Yards	2,650.00	\$5.25	\$13,912.50	\$5.00	\$13,250.00
		Removing curb and						
		gutter; complete as						
	1110-2	specified	Linear Feet	245.00	\$10.00	\$2,450.00	\$3.00	\$735.00
		Removing concrete and						
		asphalt sidewalk and						
		driveway; complete as						
	1120-2	specified	Square Feet	710.00	\$1.50	\$1,065.00	\$3.00	\$2,130.00
		Unclassified excavation;						
	1200-2	complete as specified	Cubic Yards	47.00	\$50.00	\$2,350.00	\$18.00	\$846.00
		Excavation special					,	
		(paving); complete as						
	1220-2	specified	Tons	7.00	\$0.01	\$0.07	\$0.01	\$0.07
	1220 2	Pavement ties; complete	1010	7.00	φ0.01	φ0.07	\$0.01	φ0.07
	1350-2	as specified	Each	76.00	\$8.00	\$608.00	\$10.00	\$760.00
	1000-2	Adjust manholes and	Latti	70.00	φ0.00	φ000.00	\$10.00	φ/ 60.00
	10/0.0	inlets; complete as	F 1		A.00.00	A4 000 00	# 100 ° °	*^^^ ^
	1360-2	specified	Each	2.00	\$600.00	\$1,200.00	\$400.00	\$800.00

Contract 25-15 Siewert Trail Construction (#9	9721055)					[
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of								
Solicitor. Concost wit, city of								
Bid Opening: 06/30/2025 11:00 AM CDT								
bid Opening. 00/30/2025 11:00 AM CD 1								
	-				Vinton Constru	ation Commonly	Carl Bowers & Sor	a Canat Ca. Ina
							Carl bowers & Sol	is const. co., mc.
					1322 33r			
	k 0.1			0	Two Rivers		77. 14 D. 1	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
	1050.0	Turf restoration;		210.00	#1 - 00	¢4 (50.00	*12 00	*** ***
	1370-2	complete as specified	Square Yards	310.00	\$15.00	\$4,650.00	\$12.00	\$3,720.00
		18" curb and gutter; 7";						
		with 5" CABC and						
		grading; complete as						
	1420-2	specified	Linear Feet	70.00	\$57.00	\$3,990.00	\$75.00	\$5,250.00
		30" curb and gutter; 7";						
		with 5" CABC and						
		grading; complete as			* < 0.00	to (00.00		*** ***
	1440-2	specified	Linear Feet	160.00	\$60.00	\$9,600.00	\$75.00	\$12,000.00
		4" concrete sidewalk with						
		3" CABC and grading;						
	1500-2	complete as specified	Square Feet	1,780.00	\$10.75	\$19,135.00	\$10.00	\$17,800.00
		6" concrete sidewalk/						
		driveway/ramp with 3"						
		CABC and grading;						
	1510-2	complete as specified	Square Feet	410.00	\$12.25	\$5,022.50	\$11.00	\$4,510.00
		Curb ramp detectable						
		warning field						
		(natural/non-painted);						
	1540-2	complete as specified	Square Feet	90.00	\$35.00	\$3,150.00	\$40.00	\$3,600.00
		Drilled No. 4 sidewalk tie						
		bars - deformed; epoxy-						
		coated; complete as						
	1560-2	specified	Each	8.00	\$8.00	\$64.00	\$10.00	\$80.00
		Cold weather covering						
		(sidewalk) - single						
		visquine; complete as						
	1580-2	specified	Square Feet	320.00	\$0.01	\$3.20	\$1.00	\$320.00
		Cold weather covering						
		(sidewalk) - double						
		visquine; complete as						
	1582-2	specified	Square Feet	320.00	\$0.01	\$3.20	\$1.00	\$320.00
		Up-charge for late season						
		cold weather concrete						
		sidewalk; complete as						
	1590-2	specified	Cubic Yards	5.00	\$30.00	\$150.00	\$20.00	\$100.00
		Sawing existing						
		pavement; complete as						
	1700-2	specified	Linear Feet	162.00	\$3.50	\$567.00	\$3.00	\$486.00
		Base aggregate dense; 1-						
		1/4"; complete as						
	1801-2	specified	Tons	7.00	\$25.00	\$175.00	\$18.00	\$126.00

Contract 25-15 Siewert Trail Construction (#	9721055)							
Owner: Oshkosh WI, City of	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,							
Solicitor: Oshkosh WI, City of	-	-						
Solicitor: Oshkosh Wi, City of								
Did One anima () (20/2025 11:00 AM CDT								
Bid Opening: 06/30/2025 11:00 AM CDT								
							6 ID 4 6	<u> </u>
					Vinton Construc		Carl Bowers & Son	s Const. Co., Inc.
					1322 33rd			
					Two Rivers,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Base aggregate dense; 3";						
	1802-2	complete as specified	Tons	21.00	\$25.00	\$525.00	\$18.00	\$378.00
		Tack coat; complete as						
	1900-2	specified	Gallons	180.00	\$3.13	\$563.40	\$3.10	\$558.00
		HMA Pavement LT;						
	1901-2	complete as specified	Tons	655.00	\$89.79	\$58,812.45	\$88.90	\$58,229.50
		HMA cold weather						
		paving up-charge;						
	1903-2	complete as specified	Tons	96.00	\$6.00	\$576.00	\$5.95	\$571.20
		Prepare foundation for						
		asphaltic paving;						
	1960-2	complete as specified	Lump Sum	1.00	\$6,514.00	\$6,514.00	\$6,450.00	\$6,450.00
		Pavement markings;						
		epoxy; 4" (white);						
	1974-2	complete as specified	Linear Feet	660.00	\$2.95	\$1,947.00	\$2.95	\$1,947.00
		Pavement markings;						
		epoxy; 4" (yellow);						
	1975-2	complete as specified	Linear Feet	62.00	\$2.95	\$182.90	\$2.95	\$182.90
		Pavement markings; stop-		1				
		line epoxy; 18" (white);						
	1978-2	complete as specified	Linear Feet	215.00	\$13.25	\$2,848.75	\$13.25	\$2,848.75
		Pavement markings;				. ,		. ,
		symbol; epoxy (white);						
	1984-2	complete as specified	Each	1.00	\$85.00	\$85.00	\$85.00	\$85.00
		Temporary pavement				+		40000
		markings; paint; 4"						
		(white); complete as						
	1985-2	specified	Linear Feet	108.00	\$3.50	\$378.00	\$27.75	\$2,997.00
	1900 2	Furnish and install 8"	Elitearrect	100.00	φ0.00	\$07 0.00	φ27.7.0	ψ2,777.00
		storm sewer; complete as						
	2001-2	specified	Linear Feet	70.00	\$47.00	\$3,290.00	\$150.00	\$10,500.00
	2001-2	Furnish and install	Linear reet	70.00	00.VP¢	\$3,290.00	\$150.00	\$10,500.00
		standard storm sewer						
		inlet manhole (4'						
		diameter); complete as						
	2213-2	specified	Vortical East	4.50	\$1,500.00	\$6,750.00	\$900.00	\$4,050.00
	2213-2	specified Furnish; install; maintain;	Vertical Feet	4.30	\$1,000.00	\$0,700.0U	\$900.00	\$ 4 ,000.00
		and remove Type D						
		, ,						
		modified inlet protection;						4
	2508-2	complete as specified	Each	6.00	\$140.00	\$840.00	\$90.00	\$540.00

Contract 25-15 Siewert Trail Construction (#	9721055)							
Owner: Oshkosh WI, City of	1000,							
Solicitor: Oshkosh WI, City of								
Solicitol. Oslikosli VVI, čity ol								
Bid Opening: 06/30/2025 11:00 AM CDT								
bid Opening. 00/30/2023 11:00 AM CD1	+							
	-				Vinton Constru	ation Commons	Carl Bowers & So	na Canat Ca. Ina
							Carl bowers & 50	iis Const. Co., Inc.
	-				1322 33r Two Rivers			
	N C 1	the Desired	11.04	0 "		,	II 's D '	F / ·
Section Title	Item Code	Item Description Sediment removal - Type	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		D modified inlet						
	2510.2	protection; complete as	Eh	6.00	¢20.00	¢120.00	¢50.00	¢200.00
	2510-2	specified Furnish; install; maintain;	Each	6.00	\$20.00	\$120.00	\$50.00	\$300.00
		and remove stone bag;						
	2516.2	complete as specified	Each	10.00	¢5.00	\$50.00	\$20.00	\$200.00
	2516-2	Connect to existing storm	Each	10.00	\$5.00	\$50.00	\$20.00	\$200.00
		sewer manhole; complete						
	2856-2	as specified	Each	1.00	\$750.00	\$750.00	\$2,500.00	\$2,500.00
	2856-2	Storm sewer utility line	Each	1.00	\$750.00	\$750.00	\$2,500.00	\$2,500.00
		opening (ULO); complete						
	2014.2		Eh	1.00	¢750.00	¢750.00	¢<00.00	¢(00.00
	2914-2	as specified Excavation special	Each	1.00	\$750.00	\$750.00	\$600.00	\$600.00
		-						
	2950-2	(storm); complete as	Tons	50.00	\$30.00	\$1,500.00	\$50.00	\$2,500.00
	2930-2	specified Abandon sanitary sewer	TOIIS	50.00	\$30.00	\$1,500.00	\$30.00	\$2,500.00
		manholes; complete as						
	3802-2	specified	Each	1.00	\$750.00	\$750.00	\$500.00	\$500.00
Section 3: Alternate 3 (To Be Awarded)	3802-2	specified	Each	1.00	\$750.00	\$105,480.70	\$300.00	\$141,158.96
Section 5. Alternate 5 (10 be Awarded)		Removing pavement;				\$105,400.70		\$141,158.90
	1100-3	complete as specified	Square Yards	1,150.00	\$5.25	\$6,037.50	\$5.00	\$5,750.00
	1100-5	Removing curb and	Square Tatus	1,150.00	\$3.23	\$0,037.30	\$5.00	\$3,730.00
		gutter; complete as						
	1110-3	specified	Linear Feet	65.00	\$10.00	\$650.00	\$3.00	\$195.00
	1110-5	Unclassified excavation;	Linear reet	05.00	\$10.00	\$050.00	\$5.00	\$195.00
	1200-3	complete as specified	Cubic Yards	22.00	\$50.00	\$1,100.00	\$18.00	\$396.00
	1200-5	Excavation special	Cubic Tarus	22.00	\$50.00	\$1,100.00	\$10.00	\$570.00
		(paving); complete as						
	1220-3	specified	Tons	4.00	\$0.01	\$0.04	\$0.01	\$0.04
	1220-5	Pavement ties; complete	10115	4.00	φ0.01	\$0.0 4	ψ0.01	\$0.0 1
	1350-3	as specified	Each	12.00	\$8.00	\$96.00	\$10.00	\$120.00
	1000 0	Adjust manholes and	Lucit	12.00	φ0.00	\$20.00	φ10.00	ψ120.00
		inlets; complete as						
	1360-3	specified	Each	3.00	\$600.00	\$1,800.00	\$400.00	\$1,200.00
	1000 0	Turf restoration;	Lucit	0.00	4000.00	φ1,000.00	φ100.00	ψ1,200.00
	1370-3	complete as specified	Square Yards	255.00	\$15.00	\$3,825.00	\$12.00	\$3,060.00
	10.00	30" curb and gutter; 7";	-quire rurds	200.00	\$10.00	\$5,525.00	φ 12.00	40,000.00
		with 5" CABC and						
		grading; complete as						
	1440-3	specified	Linear Feet	65.00	\$60.00	\$3,900.00	\$100.00	\$6,500.00
	1210 0	4" concrete sidewalk with	Latent I eet	00.00	φ50.00	φ0,200.00	<i>\(\phi\)</i>	φ0,000.00
		3" CABC and grading;						
	1500-3	0 0	Square Feet	1 030 00	\$11.00	\$11 330 00	\$11.00	\$11,330.00
	1500-3	complete as specified	Square Feet	1,030.00	\$11.00	\$11,330.00	\$11.00	\$11,33

Contract 25-15 Siewert Trail Construction (#	9721055)							
Owner: Oshkosh WI, City of	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,							
Solicitor: Oshkosh WI, City of								
Solicitor. Oshkosh VII, City of								
Bid Opening: 06/30/2025 11:00 AM CDT								
Bia Opening. 00/00/2020 11:00 11:01 CD 1								
					Vinton Constru	ction Company	Carl Bowers & So	ns Const Co. Inc.
	+			ł – – ł	1322 33r		Call Dowers & 30	iis Colist. Co., life.
					Two Rivers			
Section Title	IL C I	K D i i	UofM				Unit Price	Extension
Section Title	Item Code	Item Description 6" concrete sidewalk/	Uofivi	Quantity	Unit Price	Extension	Unit Price	Extension
		driveway/ramp with 3"						
		CABC and grading;						
	1510.2	0 0	Course Frank	26.00	¢12 E0	¢225.00	¢12.00	¢212.00
	1510-3	complete as specified Curb ramp detectable	Square Feet	26.00	\$12.50	\$325.00	\$12.00	\$312.0
		warning field						
		0						
	1540.2	(natural/non-painted);	Course Fresh	10.00	¢25.00	\$250.00	¢40.00	¢ 400 0
	1540-3	complete as specified Cold weather covering	Square Feet	10.00	\$35.00	\$350.00	\$40.00	\$400.00
		0						
		(sidewalk) - single visquine; complete as						
	1590.2		Course Fresh	155.00	¢0.01	¢1 55	¢1.00	¢155.00
	1580-3	specified Cold weather covering	Square Feet	155.00	\$0.01	\$1.55	\$1.00	\$155.00
		(sidewalk) - double						
	1500.0	visquine; complete as	с г .	155.00	#0.01	¢1 55	¢1.00	¢155.0
	1582-3	specified Up-charge for late season	Square Feet	155.00	\$0.01	\$1.55	\$1.00	\$155.00
		cold weather concrete						
	1500.2	sidewalk; complete as	CubicVanda	2.00	\$30.00	¢<0.00	¢20.00	¢40.00
	1590-3	specified	Cubic Yards	2.00	\$30.00	\$60.00	\$20.00	\$40.00
		Sawing existing						
	1700.2	pavement; complete as	I. F.	25.00	#= 00	¢175.00	#2.00	¢105 0
	1700-3	specified	Linear Feet	35.00	\$5.00	\$175.00	\$3.00	\$105.00
		Base aggregate dense; 1-						
	1001.2	1/4"; complete as	T	10.00	# 25 .00	¢250.00	¢10.00	¢100.00
	1801-3	specified	Tons	10.00	\$25.00	\$250.00	\$18.00	\$180.0
	1802-3	Base aggregate dense; 3";	Τ	17.00	\$25.00	\$425.00	\$18.00	¢207.00
	1802-3	complete as specified Tack coat; complete as	Tons	17.00	\$25.00	\$425.00	\$18.00	\$306.00
	1000.2	-	C 11	00.00	¢0.10	¢250.40	¢2.10	#0.1 0.00
	1900-3	specified HMA Pavement LT;	Gallons	80.00	\$3.13	\$250.40	\$3.10	\$248.00
	1001.2		Τ	285.00	¢90.70	¢25 500 15	¢99.00	¢25.226.50
	1901-3	complete as specified HMA cold weather	Tons	285.00	\$89.79	\$25,590.15	\$88.90	\$25,336.50
	1903-3	paving up-charge; complete as specified	Tons	42.00	\$6.00	\$252.00	\$5.95	\$249.9
	1903-3	Prepare foundation for	TONS	42.00	.00 .00	\$252.00	\$9.5¢	\$249.90
		asphaltic paving;						
	1960-3		Lump Sum	1.00	\$3,232.00	\$3,232.00	\$3,200.00	\$3,200.00
	1900-3	complete as specified Pavement markings;	Lump Sum	1.00	\$3,232.00	\$3,232.00	\$3,200.00	\$3,200.00
		-						
	1074.2	epoxy; 4" (white);	Lin or East	420.00	#0.0F	¢1.240.50	#0.0F	¢1.070 E
	1974-3	complete as specified	Linear Feet	430.00	\$2.95	\$1,268.50	\$2.95	\$1,268.50
		Pavement markings;						
	1004.0	symbol; epoxy (white);	E . 1	1.00	#0F 00	#0F 00	#0F 00	#05 OC
	1984-3	complete as specified	Each	1.00	\$85.00	\$85.00	\$85.00	\$85.00

Contract 25-15 Siewert Trail Construction (#9	0721055)							
Owner: Oshkosh WI, City of	(1000)							
Solicitor: Oshkosh WI, City of								
Solicitol. Oslikosli Wi, City ol								
Rid Onerine, 06/20/2025 11:00 AM CDT								
Bid Opening: 06/30/2025 11:00 AM CDT								
					Vinton Construe		Carl Bowers & So	ns Const. Co., Inc.
					1322 33r			
					Two Rivers	,		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Temporary pavement						
		markings; paint; 4"						
		(white); complete as						
	1985-3	specified	Linear Feet	64.00	\$3.50	\$224.00	\$46.75	\$2,992.00
		Furnish and install 12"						
		RCP Class III storm						
		sewer; complete as						
	2004-3	specified	Linear Feet	170.00	\$73.00	\$12,410.00	\$150.00	\$25,500.00
		Furnish and install 12"						
		RCP Class III apron						
		endwall with joint ties;						
	2140-3	complete as specified	Each	1.00	\$1,200.00	\$1,200.00	\$25,000.00	\$25,000.00
		Furnish and install						
		standard storm sewer						
		manhole (4' diameter);						
	2201-3	complete as specified	Vertical Feet	3.50	\$1,262.00	\$4,417.00	\$900.00	\$3,150.00
		Furnish and install						
		standard storm sewer						
		inlet manhole (4'						
		diameter); complete as						
	2213-3	specified	Vertical Feet	9.50	\$1,500.00	\$14,250.00	\$800.00	\$7,600.00
		Furnish; install; maintain;			. ,	. ,		. ,
		and remove Type D						
		modified inlet protection;						
	2508-3	complete as specified	Each	5.00	\$140.00	\$700.00	\$90.00	\$450.00
		Sediment removal - Type			+	+	++ ++ ++ ++ ++ ++ ++ ++ ++ ++ ++ ++ ++	+
		D modified inlet						
		protection; complete as						
	2510-3	specified	Each	5.00	\$20.00	\$100.00	\$50.00	\$250.00
	2010 0	Furnish; install; maintain;	Luch	0.00	φ20.00	\$100.00	400.00	φ250.00
		and remove stone						
		tracking pad; complete as						
	2512-3	specified	Each	1.00	\$0.01	\$0.01	\$0.01	\$0.01
	2012-0	Furnish; install; maintain;	Lacit	1.00	\$0.01	\$0.01	\$0.01	\$0.01
		and remove stone bag;						
	2516-3	complete as specified	Each	5.00	\$25.00	\$125.00	\$10.00	\$50.00
	2510-5	Furnish; install; maintain;	Each	5.00	\$23.00	\$125.00	\$10.00	\$50.00
		and remove 12" diameter						
	0510.0	sediment logs; complete	Lines T	100.00	#10.00	#1 000 00	#10.00	#1.000.00
	2518-3	as specified	Linear Feet	100.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00
		Furnish; install; maintain;						
		and remove dewatering						
		tank system; complete as			h a 0			
	2524-3	specified	Each	1.00	\$1,000.00	\$1,000.00	\$0.01	\$0.01

				Vinton Construe	ction Company	Carl Bowers & Sor	us Const. Co., Inc.
				1322 33rd Street Two Rivers, WI 54241			,
Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
	Furnish; install; maintain;						
	and remove turbidity						
2526-3		Each	1.00	\$3,000.00	\$3,000.00	\$7,500.00	\$7,500.00
	· ·						
2(22.2		Carrana Manda	100.00	¢5.00	¢500.00	¢0.05	\$225.00
2632-3		Square rards	100.00	\$5.00	\$500.00	\$2.25	\$225.00
	· · · · · · · · · · · · · · · · · · ·						
2650-3		Square Yards	20.00	\$100.00	\$2,000,00	\$100.00	\$2,000.00
2000 0		oquare rarao	20.00	\$100.00	<i>\$</i> _,000.00	\$100.00	\$2,000.00
2800-3	-	Linear Feet	50.00	\$12.00	\$600.00	\$25.00	\$1,250.00
	Abandon storm sewer						
	manholes and inlets;						
2810-3 2914-3	complete as specified	Each	1.00	\$450.00	\$450.00	\$500.00	\$500.00
	~						
	1 0						
		Each	1.00	\$750.00	\$750.00	\$600.00	\$600.00
	-						
2050.2		Τ	50.00	#05 00	¢1 750 00	#=0.00	¢3 500 00
2930-3	specified	TONS	50.00	\$35.00		\$50.00	\$2,500.00 \$1,654,968.72
	2526-3 2632-3 2650-3 2800-3 2810-3 2914-3	Furnish; install; maintain; and remove turbidity barrier; complete as 2526-3 specified Furnish and install Class I; Urban; Type A erosion control mat; complete as 2632-3 specified Furnish and install heavy rip-rap with filter fabric; 2650-3 complete as specified Abandon 8" - 12" storm sewer; complete as 2800-3 specified Abandon storm sewer manholes and inlets; 2810-3 complete as specified Storm sewer utility line opening (ULO); complete 2914-3 as specified Excavation special (storm); complete as	Furnish; install; maintain; and remove turbidity barrier; complete as 2526-3 specified Each Furnish and install Class I; Urbar; Type A erosion control mat; complete as Square Yards 2632-3 specified Square Yards Furnish and install heavy rip-rap with filter fabric; Square Yards 2650-3 complete as specified Square Yards Abandon 8" - 12" storm sewer; complete as Square Feet Abandon 8" - 12" storm sewer; complete as Linear Feet Abandon storm sewer manholes and inlets; Each 2810-3 complete as specified Each Storm sewer utility line opening (ULO); complete as specified Each 2914-3 as specified Each Excavation special (storm); complete as Each	Furnish; install, maintain; and remove turbidity barrier; complete as Each 1.00 Specified Each 1.00 Furnish and install Class I; Urbar; Type A erosion control mat; complete as Each 1.00 Specified Square Yards 100.00 Furnish and install Class I; Urbar; Type A erosion control mat; complete as Square Yards 20.00 Abandon 8" - 12" storm sewer; complete as Square Yards 20.00 Abandon 8" - 12" storm sewer; complete as Square Feet 50.00 Abandon storm sewer manholes and inlets; Each 1.00 Storm sewer utility line opening (ULO); complete as specified Each 1.00 Storm sever utility line opening (ULO); complete as specified Each 1.00	Item CodeItem DescriptionUofMQuantityUnit PriceFurnish; install; maintain; and remove turbidity barrier; complete as </td <td>Item CodeItem DescriptionUofMQuantityUnit PriceExtensionFurnish; install; maintain; and remove turbidity barrier; complete as<td>Item CodeItem DescriptionUofMQuantityUnit PriceExtensionUnit PriceFurnish, install, maintain, and remove turbidity barrier; complete as 2526-3Each1.00\$3,000.00\$3,000.00\$7,500.002526-3specifiedEach1.00\$3,000.00\$3,000.00\$7,500.00Furnish and install Class I, Urbar, Type A erosion control mat; complete as specifiedSquare Yards100.00\$5.00\$500.002632-3specifiedSquare Yards100.00\$5.00\$500.00\$2.25Furnish and install heavy rip-rap with filter fabric; rip-rap with filter fabric; sewer; complete as sewer; complete as sewer; complete as sever; complete as sever; complete as specifiedSquare Yards20.00\$100.00\$2,000.00\$22.00Abandon 8" - 12" storm sewer manholes and inlets; 2810-3Linear Feet50.00\$12.00\$600.00\$25.00Abandon storm sewer manholes and inlets; 2910-3Each1.00\$450.00\$450.00\$500.00Storm sewer utility line opening (ULO); complete sercifiedEach1.00\$750.00\$750.00\$600.00Excavation special (storm); complete as 2950-3Each1.00\$750.00\$750.00\$600.002950-3specifiedEach1.00\$750.00\$750.00\$600.002950-3specifiedEach1.00\$750.00\$750.00\$600.002950-3specifiedEach1.00\$750.00\$750.00\$750.00<tr <="" td=""></tr></td></td>	Item CodeItem DescriptionUofMQuantityUnit PriceExtensionFurnish; install; maintain; and remove turbidity barrier; complete as <td>Item CodeItem DescriptionUofMQuantityUnit PriceExtensionUnit PriceFurnish, install, maintain, and remove turbidity barrier; complete as 2526-3Each1.00\$3,000.00\$3,000.00\$7,500.002526-3specifiedEach1.00\$3,000.00\$3,000.00\$7,500.00Furnish and install Class I, Urbar, Type A erosion control mat; complete as specifiedSquare Yards100.00\$5.00\$500.002632-3specifiedSquare Yards100.00\$5.00\$500.00\$2.25Furnish and install heavy rip-rap with filter fabric; rip-rap with filter fabric; sewer; complete as sewer; complete as sewer; complete as sever; complete as sever; complete as specifiedSquare Yards20.00\$100.00\$2,000.00\$22.00Abandon 8" - 12" storm sewer manholes and inlets; 2810-3Linear Feet50.00\$12.00\$600.00\$25.00Abandon storm sewer manholes and inlets; 2910-3Each1.00\$450.00\$450.00\$500.00Storm sewer utility line opening (ULO); complete sercifiedEach1.00\$750.00\$750.00\$600.00Excavation special (storm); complete as 2950-3Each1.00\$750.00\$750.00\$600.002950-3specifiedEach1.00\$750.00\$750.00\$600.002950-3specifiedEach1.00\$750.00\$750.00\$600.002950-3specifiedEach1.00\$750.00\$750.00\$750.00<tr <="" td=""></tr></td>	Item CodeItem DescriptionUofMQuantityUnit PriceExtensionUnit PriceFurnish, install, maintain, and remove turbidity barrier; complete as 2526-3Each1.00\$3,000.00\$3,000.00\$7,500.002526-3specifiedEach1.00\$3,000.00\$3,000.00\$7,500.00Furnish and install Class I, Urbar, Type A erosion control mat; complete as specifiedSquare Yards100.00\$5.00\$500.002632-3specifiedSquare Yards100.00\$5.00\$500.00\$2.25Furnish and install heavy rip-rap with filter fabric; rip-rap with filter fabric; sewer; complete as sewer; complete as sewer; complete as sever; complete as sever; complete as specifiedSquare Yards20.00\$100.00\$2,000.00\$22.00Abandon 8" - 12" storm sewer manholes and inlets; 2810-3Linear Feet50.00\$12.00\$600.00\$25.00Abandon storm sewer manholes and inlets; 2910-3Each1.00\$450.00\$450.00\$500.00Storm sewer utility line opening (ULO); complete sercifiedEach1.00\$750.00\$750.00\$600.00Excavation special (storm); complete as 2950-3Each1.00\$750.00\$750.00\$600.002950-3specifiedEach1.00\$750.00\$750.00\$600.002950-3specifiedEach1.00\$750.00\$750.00\$600.002950-3specifiedEach1.00\$750.00\$750.00\$750.00 <tr <="" td=""></tr>